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University Deprtment of Commerce

B.R.A. Bihar University, Muzaffarpur

MODEL QUESTION BANK  (SET-II)

B.Com (Honours) Part- I

Group (A ) : Accounts

Paper- II, Auditing

Multiple Choice Questions (cgq foDyih; iz'u)

oLrqfu"B iz'u (Objective Type Question)

 oLrqfu"B iz'u     (Objective Types Questions):

1. fuEufyf[kr esa dkSu&lh {k;h lEifÙk gS\ (Which of the following is wasting assets?)

(v) dks;yk dh [kku (Coal Mines) (c) miLdj (Furniture)

(l) [;kfr (Goodwill) (n) jksdM+ (Cash)

2. m¼r ewY; lEcfU/r gksrk gS (Quoted price is related with):

(v) LVkWd ls (Stock) (c) [;kfr ls (Goodwill)

(l) va'k ls (Share) (n) buesa ls dksbZ ugha (None of these)

3. fuEukafdr esa dkSu ls vLFkk;h lEifÙk ugha gS\ (Which of the following is not floating asset?)

(v) iwoZnÙk O;; (Prepaid Expenses) (c) izkI; fcy (Bills Receivables)

(l) [;kfr (Goodwill) (n) jgfr;k (Stock)

4. ,d vads{kd (An Auditor):

(v) ewY;kadd gS (Is a valuer) (c) ewY;kadu ugha gSa (Is not aq valuer)

(l) nksuksa esa ls dksbZ ugha (None of the two) (n) mi;qZDr v o c (A and B both)

5. fuEukafdr esa dkSu vHkkSfrd lEifÙk\ (Which of the following is intangible asset?)

(v) ,dL; (Patents) (c) iwoZnÙk O;; (Prepaid Expenses)

(l) izkjafHkd O;; (Preliminary Expenses) (n) buesa ls dksbZ ugha (None of these)

6. fuEukafdr esa ls dkSu&lh cukoVh lEifÙk gS\ (Which of the following if fictitious asset?)

(v) [;kfr (Goodwill) (c) iqLrd izdk'ku dk vf/dkj (Copyright)

(l) izkjafHkd O;; (Preliminary Expenses) (n) buesa ls dksbZ ugha (None of these)

7. ewY;kadu ds mPpre ewY; ls igys fuxZeu fof/ dk iz;ksx gksrk gS (Highest in Price First out Method of Valuation is used):

(v) tc lkexzh dk ewY; c<+ jgk gks (When the price of material is increasing)

(c) tc lkexzh dk ewY; ?kV jgk gks (When the price of material is decreasing)

(l) tc lkexzh dk ewY; fLFkj gks (When the price of material is constant)

(n) mi;qZDr esa ls ugha (None of above)

8. ykxr ewY; ;k cktkj ewY; esa ls tks de gks] ij&&&&dk ewY;kadu fd;k tkrk gS(.....is valued at cost pricde of market price

which ever is less):

(v) jgfr;k (Stock) (c) [;kfr (Goodwill)

(l) e'khu (Machine) (n) buesa ls dksbZ ugha (None of these)

9. ik"kZn lhekfu;e esa ifjorZu ds fy, fdldh LohÑfr ysuk t:jh gS (For alternation in Memorandum of Association

whose approval is essential):

(v) dsUnzh; ljdkj dh (Central Government) (c) aU;k;ky; (Court)

(l) jkT; ljdkj (State Government) (n) mi;qZDr esa ls dksbZ ugha (None of the above)

10. Vsoy F fodYi gS (Table 'F'; is the substitute of........)

(v) ik"kZn lhek fu;e (Memorandum of Association) (c) Ikk"kZn vurfuZ;e (Artoc;es pf Asspcoation)

(l) izfooj.k (Prospectus) (n) fueV cqd (Minute Book)

11. dEiuh vf/fu;e. 2-013 dh /kjk 2 (5) lEcfU/r gSA (See . 2 (5) of Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) ik"kZn vUrfuZ;e (Articles of Association)

(l) izfodj.k (Prospects) (n) mi;ZDr esa ls dksbZ ugha (None of the above)
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12. dEiuh vf/fu;e 2013 dh /kjk 2 (56) lEcfU/r gSA (See . 2 (56) of Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) ik"kZn vUrfuZ;e (Articles of Association)

(l) izfodj.k (Prospects) (n) feuV cqd (Minutes Book)

13. dEiuh vf/fu;e 2013 dh /kjk 39 lEcfU/r gSA (See . 39 of Companies Act, 2013 is associated  with):

(v) izfooj.k (Prospectus) (c) feuV cqd (Minute Book)

(l) U;wure vfHknku (Minimum Subscription) (n) mi;qZDr esa lds dksbZ ugha (None of the above)

14. dEiuh vf/fu;e 2013 dh /kjk 2 (70) lEcfU/r gSA (See . 2 (70) of Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) ik"kZn vUrfuZ;e (Articles of Association)

(l) izfodj.k (Prospects) (n) feuV cqd (Minutes Book)

15. dEiuh vf/fu;e 2013 dh /kjk 4 lEcfU/r gSA (See . 4 Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) vUrfuZ;e (Article  of Association)

(l) izfodj.k (Prospects) (n) feuV cqd (Minutes Book)

16. dEiuh vf/fu;e 2013 dh /kjk lEcfU/r gSA (See . 4 Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) vUrfuZ;e (Article  of Association)

(l) izfodj.k (Prospects) (n) mijksDr esa ls dksbZ ugha (None of the above)

17. dEiuh vf/fu;e 2013 dh /kjk 28 lEcfU/r gSA (See . 28 Companies Act, 2013 is associated  with):

(v) ik"kZn lhekfu;e (Memorandum of Association) (c) vUrfuZ;e (Article  of Association)

(l) izfodj.k (Prospects) (n) feuV cqd (Minutes Book)

18. dEiuh vf/fu;e] 2013 dh /kjk 52 lEcfU/r gS (See . 52 of Companies Act, 2013 is associated with):

(v) vf/ewY; ij va'kksa dk fuxZeu (Issue of Share at Premium) (c)

(c) cV~Vs ij va'kksa dk fuxZeu (Issue of Share at Discount)

(l) leewY; ij va'kksa dk fuxZeu (Issue of Shares at Par)

(n) mi;qZDr esa ls dksbZ ugha (None of above)

19. dEiuh vf/fu;e 2013 dh /kjk 66 lEcfU/r gS (See . 66 of Companies Act, 2013 is associated with):

(v) va'k iwath esa deh (Reduction in Share Capital) (c)

(c) lqjf{kr iawth (Reserve Capital)

(l) va'k izek.ki=k (Share Certificate)

(n) mi;qZDr esa ls dksbZ ugha (None of the above)

20. dEiuh vf/fu;e 2013 dh /kjk 39 lEcfU/r gSA (See . 39 Companies Act, 2013 is associated  with):

(v) izfodj.k (Prospectus) (c) feuV cqd (Minute Book)

(l) U;wure vfHknku (Minimum Subscription) (n) mijksDr esa ls dksbZ ugha (None of the above)

21. dEiuh vf/fu;e 2013 dh /kjk 53 lEcfU/r gS (See . 53 of Companies Act, 2013 is associated with):

(v) va'kks dk lerqY; ij fuxZeu (Issue of Shares at par)

(c) va'kks dk cV~Vk ij fuxZeu (Issue of Shares at Discount)

(l) va'kks dk vf/ewY; ij fuxZeu (Issue of Shares at Premium)

(n) mi;qZDr esa ls dksbZ ugha (None of the above)

22. dEiuh vf/fu;e 2013 dh /kjk 71 lEcfU/r gSA (See . 71 Companies Act, 2013 is associated  with):

(v) va'k izek.k&i=k (Share Certificate) (c) va'k vf/i=k (Share Warrant)

(l) va'kks dk gLrkUrj.k (Transfer of Sharers) (n) mijksDr esa ls dksbZ ugha (None of the above)

23. dEiuh vf/fu;e 2013 dh /kjk 56 lEcfU/r gS (See . 56 of Companies Act, 2013 is associated with):

(v) va'k izek.k&i=k (Share Certificate)

(c) lqjf{kr iawth (IReserve Capital)

(l) va'k&iawth essa deh (Reduction in Share Capital)

(n) mi;qZDr esa ls dksbZ ugha (None of the above)
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24. pkyw [kkrk ys[kkadu i¼fr dk mi;ksx lu~&&&&&&ls c<+k gS (Use of Current Cost Accounting method....has been

increased from:

(v) 1980 (c) 1985

(l) 1972 (n) 1990

25. pkyw Ø;&'kfDr ys[kkadu i¼fr esa (In Current Purchasing Power Accounting Method)

(v) lkekU; lwpdkad dk iz;ksx gksrk gS (General Price Index is used)

(c) eq[; lwpdkad dk iz;ksx gksrk gS (Main Index is used)

(l) nksuksa dk iz;ksx gksrk gS (Both are bused

(n) mi;qZDr esa ls dksbZ ugha (None of the above)

26. vads{k.k lfefr;ksa dh mi;qDrrk gS (Suitability of Audit Committees are):

(v) fu"i{krk (Impartiallity)

(c) eè;LFkrk (Mediatorship)

(l) nksuksa  (v) vkSj (c) (Both A and B are ture)

(n) mi;qZDr esa ls dksbZ ugha (None of the above)

27. vads{k.k vkjaHk gksrk gS tgk¡%

(v) iqLrdky; lekIr gksrk gSA (c) vuqlU/ku lekIr gksrk gSA

(l) ys[kkadu lekIr gksrk gSA (n) izek.ku lekIr gksrk gSA

     Auditing begins where :

(a) Book-keeping ends (b) Investigation ends

(c) Accounting ends (d) Vouching ends

28. lkoZtfud dEiuh ds fy, vads{k.k gS%

(v) vfuok;Z (c) foykflrk

(l) ,sfPNd (n) oSdfYid

    Audit of public company is :

   (a) Compulsory (b) Luxury

      (c) Voluntary (d) Optional

29. fuEu esa ls dkSu&lk dk;Z foHkktu ds fl¼kUr ij vk/kfjr gS\

(v) vkUrfjd fu;U=k.k (c) vkUrfjd fujh{k.k

(l) vkUrfjd vads{k.k (n) buesa ls dksbZ ugha

    Which of the following is based on the principle of division of work ?

  (a) Internal Control (b) Internal Check

  (c) Internal Audit (d) None of these

30. vads{k.k dk;ZØe gksuk pkfg,%

(v) dBksj (c) yphyk

(l) LFkk;h (n) ekSf[kd

     The audit programme should be :

   (a) Rigid (b) Elastic

      (c) Fixed (d) Verbal

31. vads{k.k dh jh<+ dh gM~Mh fdls ekuk tkrk gS\

(v) izek.kd (c) lR;kiu

(l) ewY;kadu (n) vkUrfjd vads{k.k

    Which is known as back bone of audit ?

    (a) Vouching (b) Verification

    (c) Valuation (d) Internal Audit
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32. ykxr vkSj cktkj ewY; nksuksa esa ls tks de gks ds vk/kj ij dkSu&lh lEifÙk ewY;kafdr dh tkrh gS\

(v) e'khujh (c) Hkwfe

(l) izkIr foy (n) jgfr;k

    Which assets is valued on the basis of cost or market value, whichever is lower ?

  (a) Machinery (b) Land

     (c) Bills Receivable (d) Stock

33. dEiuh vads{k.k dh fu;qfDr dkSu djrk gS\

(v) lapkyd (c) va'k/kjh

(l) dsUnz ljdkj (n) beusa ls lHkh ds }kjk

     Who appoints the company auditors ?

  (a) Directors (b) Shareholders

     (c) Central Government (d) All of these

34. dEiuh vads{k.k ds ikfjJfed dk o.kZu dEiuh vf/fu;e dh fdl /kjk esa gS\

(v) /kjk 224 (c) /kjk 225

(l) /kjk 226 (n) /kjk 227

     Which section of companies act contains provisions of remuneration to company auditor ?

   (a) Section 224 (b) Section 225

      (c) Section 226 (d) Section 227

35. dEiuh vf/fu;e dh fdl /kjk ds vUrxZr ykHkka'k okaVus ls iwoZ lEifÙk;ksa ij ßkl yxkuk vfuok;Z gS\

(v) /kjk 207 (c) /kjk 205

(l) /kjk 225 (n) /kjk 227

    According to which section of Companies Act, depreciation on assets is necessary before

 distributing dividend ?

  (a) Section 207 (b) Section 205

     (c) Section 225 (d) Section 227

36. izcU/u vads{k.k gS%

(v) vfuok;Z (c) ,sfPNd

(l) (v) vkSj (c) nksuksa (n) buesa ls dksbZ ugha

     Management audit is :

     (a) Compulsory (b) Voluntary

     (c) Both (a) and (b) (d) None of these

37. Hkkjr esa pkVZMZ ,dm.VS.V vf/fu;e ikfjr gqvk\

(v) 1947 esa (c) 1949 esa

(l) 1956 esa (n) 1965 esa

     In India Chartered Accountant Act was passed in the year :

      (a) in 1947 (b) in 1949

      (c) in 1956 (d) in 1965

38. cSafdx ds }kjk viuk;k tkus okyk vads{k.k gS%

(v) okf"kZd vads{k.k (c) eè; vads{k.k

(l) pkyw vads{k.k (n) beusa ls dksbZ ugha

    The Audit which is opted by a Banking Co. is :

  (a) Annual Audit (b) Interim Audit

     (c) Continuous Audit (d) None of these
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39. uSR;d tkap dh tkrh gS%

(v) ljdkj }kjk (c) va'k/kfj;ksa }kjk

(l) vads{k.k }kjk (n) laLFkk ds deZpkfj;ksa }kjk

     Routine Checking is done by :

     (a) Government (b) Shareholders

     (c) Auditor (d) By the employees of concern

40. ewY;akdu ,d vax gS%

(v) izek.ku dk (c) lR;kiu dk

(l) vkUrfjd fu;U=k.k dk (n) bues ls dksbZ ugha

     Valuation is a part of :

    (a) Vouching (b) Verification

    (c) Internal Control (d) None of these

41. lkekU;r% da- esa izFke vads{kd dh fu;qfDr dh tkrh gS%

(v) ljdkj }kjk (c) lapkyd e.My }kjk

(l) va'k/kfj;ksa }kjk (n) dEiuh lfpo }kjk

     The First Auditor is generally appointed in a Co. by :

     (a) Government (b) Board of Directors

     (c) Shareholders (d) Company Secretary

42. dEiuh vf/fu;e dh fdl /kjk ds vUrxZr ,d vads{kd dh viuh fjiksVZ nsuh pkfg,%

(v) /kjk 219 (c) /kjk 221

(l) /kjk 223 (n) /kjk 227 (2)

     According to which section of Company act an auditor should submit his report ?

     (a) Section 219 (b) Section 221

       (c) Section 223 (d) Section 227 (2)

43. fuekZ.kh laLFkkvksa ds fy, ykxr vads{k.k djkuk%

(v) ,sfPNd gS (c) vfuok;Z gS

(l) oS/kfud gS (n) buesa ls dksbZ ugha

      For Manufacturing Concerns Cost Audit is :

      (a) Voluntary (b) Compulsory

      (c) Statutory (d) None of these

44. izcU/dh; vads{k.k esa ewY;kadu fd;k tkrk gS%

(v) ykxr ys[kksa dk (c) foÙkh; ys[kksa dk

(l) izcU/dh; uhfr ,oa dk;ksZ dk (n) lEifÙk;ksa ,oa nkf;Roksa dk

       Management audit is a valuation of :

       (a) Cost A/cs (b) Financial A/cs

       (c) Management Policies and Working (d) Assets and Liabilities

45. vads{k.k dk izeq[k mís'; gS%

(v) jk; izn'kZu (c) v'kqf¼;ksa dk irk yxkuk

(l) NydiV dks jksduk (n) buesas ls lHkh

      The main object of an audit is :

       (a) Expression of opinion (b) Detection of Errors

        (c) Prevention of frauds (d) All of these
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46. fuEufyf[kr esa ls D;k vads{k.k ls lEcfU/r ugha gS\
(v) izek.ku (c) lR;kiu
(l) ewY;akdu (n) cqd fofYMax

        Which of the following is not related to auditing :

       (a) Vouching (b) Verification

       (c) Valuation (d) Book building

47. vads{k.k fuEufyf[kr ls djkuk pkfg,%
(v) ,d is'ksoj ys[kkdkj ls (c) ,d izkekf.kd icU/ ys[kkikyd ls
(l) ,d lunh ys[kkdkj (pkVZMZ ,dkm.VS.V~ ls) (n) ,d lq;ksX; ys[kkdkj ls

       Audit should be done by :

        (a) A Professional Accountant (b) A Certified Management Accountant

         (c) A Chartered Accountant (d) A Competent Accountant

48. dEiuh ds izFke vads{kd dh fu;qfDr dh tkrh gS%
(v) izoU/ funs'kd }kjk (c) izcU/ vfHkdÙkkZ }kjk
(l) funs'kd e.My }kjk (n) buess ls fdlh ds }kjk ugha

       The first auditor of any company is appointed by :

       (a) Managing Directors (b) Managing Agent

       (c) Board of Directors (D) None of these

49. vads{k.k dk;ZØe cuk;k tkrk gS%
(v) vads{kd }kjk (c) fu;ksDrk (eqofDdy) }kjk
(l) vads{kd ds lgk;dksa }kjk (n) (v) rFkk (c) nksuksa

       Audit Programme is prepared by :

       (a) The auditor (b) The Client

        (c) The audit assistants (d) both (a) and (c)

50. 60]000 jQ dh X dks nh xbZ fcØh Yds [kkrs esa fn[kkbZ xbZ og fuEu esa ls fdl =kqfV dk mnkgj.k gS\
(v) Hkwy lEcU/h =kqfV (c) DydZ lEcU/h =kqfV
(l) lS¼kfUrd =kqfV (n) {kfriwjd =kqfV

       A sale of # 60,000 to X was entered as a sale to Y it is an example of :

       (a) Error of Omission (b) Error of Commission

       (c) Error of Principle (d) Compensating Error

51. fuEu esa dkSu&lk vads{k.k foÙkh; vads{k.k ls lEcfU/r ugha gS\
(v) lkekftd vads{k.k (c) i;kZoj.kh; vads{k.k
(l) vkSfpR; vads{k.k (n) buesa ls lHkh

       Which of the following is not related to financial audit :

       (a) Social audit (b) Environmental audit

        (c) Propriety audit (d) All of these

52. ys[kkadu izek.k fuxZr djus dk vf/dkj fuEu essa ls fdls gs\
(v) dEiuh ykW cksMZ (c) foÙk ea=kky;
(l) bULVhP;wV vkWiQ pkVZMZ ,dkm.VS.V~l vkWiQ bf.M;k (n) os lHkh

        Accounting standards are issued by :

        (a) Company Law Board (b) Ministry of Finance

        (c) Institute of Chartered Accountants of India (d) All of these

53. lhfer nkf;Ro okyh dEiuh esa vads{kd fu;qDr djus gsrq dkSu mÙkjnk;h gS\
(v) funs'kd (c) lnL;
(l) dszUnzh; ljdkj (n) os lHkh

       Who is responsible for appointment of statutory auditor of a limited company :

       (a) Directors (b) Members

       (c) Central Govt. (d) All of these
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54. lrr vads{k.k fo'ks"k :i ls vko';d gS%
(v) fdlh Hkh O;kikfjd laLFkk ds fy, (c) NksVh laLFkk ds fy,
(l) cSfdax dEifu;ksa ds fy, (n) fdlh Hkh fuekZ.kh laLFkk ds fy,

       Continuous audit is specially needed for :

       (a) any trading concern (b) small concern

       (c) banking companies (d) any manufacturing concern

55. ijh{k.k tkap ugha viukuk pkfg,%
(v) foØ; ogh ds fy, (c) Ø; ogh ds fy,
(l) fcy ogh ds fy, (n) jksdM+ ogh ds fy,

     Test checking should not be applied to :

     (a) Sales Book (b) Purchase Book

     (c) Bills Book (d) Cash Book

56. ewy izek.kd ds vHkko esa izLrqr lgk;d izek.kd dgykrk gS%
(v) leikf'oZd izek.kd (c) izfri.kZ
(l) uksV ogh izek.kd (n) lkekU; izek.kd

    The subsidiary voucher provided in the absence of primary voucher is called :

     (a) Collateral voucher  (b) Counter foil

     (c) Note-book voucher (d) General voucher

57. fuEufyf[kr esa ls fdl ekeys esa ,d fu.kZ; fn;k x;k Fkk fd vads{kd ewY;kadu ugha gS\
(v) fØIlVu dkWVu feYl fyfeVsM (c) eSDlu ,.M jkWfouk
(l) n vkbfjl owyu dEiuh fyfeVsM (n) buesas ls dksbZ ugha

     In which of the following case, the decision given that Auditor is not a valuer ?

      (a) Kingston Cotton Mills Ltd. (b) Maxson and Robbins

      (c) The Irish Woolen Co. Ltd. (d) None of these

58. ys[kk ijh{kd viuh fjiksVZ esa nsrk gS viuk%
(v) fu.kZ; (c) jk;
(l) [kkrksa dh 'kq¼rk dh xkj.Vh (n) buesa ls lHkh

      In his report the auditor gives his :

     (a) Judgement (b) Opinion

    (c) Guarantee to correctness of accounts (d) All of these

59. vkUrfjd vads{kd dks gVk;k tk ldrk gS%
(v) izoU/u }kjk (c) va'k/kfj;ksa }kjk
(l) lafof/d vads{kd }kjk (n) ljdkj }kjk

      Internal auditor can be removed by the :

     (a) Management (b) Shareholders

     (c) Statutory Auditor (d) Government

60. izcU/dh; vads{k.k dk vFkZ gS%
(v) izcU/rU=k dh vksj ls vads{k.k
(c) O;ogkj izcU/dh; ys[kkadu dh O;oLFkk dk vads{k.k
(l) izcU/rU=k ds mís';ksa rFkk izfØ;kvksa dk O;ofLFkr ewY;akdu
(n) izcU/dh; igy ij fn, x, foÙkh; ysu&nsuksa dk vads{k.k

      Management Audit refers to :

      (a) audit on behalf of the management

     (b) audit of management accounting system in operating

     (c) systematic appraisal of managements objectives and procedures

     (d) auditor of managerially initiated financial transactions
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61. ykxr vads{k.k dk ifrosnu izLrqr fd;k tkrk gS%
(v) dEiuh lfpo dks (c) okf"kZd lkekU; lHkk esa va'k/kfj;ksa dks
(l) dsUnzh; ljdkj dks (n) dEifu;ksa ds iath;d dks

     Report of Cost Auditor is to be submitted to :

     (a) The Company Secretary (b) The Shareholders in the Annual General Meeting

      (c) The Central Government (d) The Registrar of the Companies

62. vads{k.k gS%
(v) ,d foKku (c) ,d dyk
(l) (v) vkSj (c) nksuksa (n) buesa ls dksbZ ugha

     Auditing is :

     (a) A Science (b) An Art

     (c) Both (a) and (b) (d) None of these

63. vkUrfjd vads{k.k fd;k tkrk gS%
(v) izcU/dksa }kjk (c) deZpkfj;ksa }kjk
(l) va'k/kfj;ksa }kjk (n) ckgjh O;fDr }kjk

     Internal audit is done by :

     (a) Management (b) Employee

    (c) Shareholders (d) External person

64. ,d vads{kd gksrk gS%
(v) j[kokyh djus okys dqÙks ds leku (c) ikxy dqÙks ds leku
(l) I;kls dqÙks ds leku (n) ykyph dqÙks ds leku

     An auditor is :

     (a) As a watch dog (b) As a made dog

     (c) As a thirsty dog (d) As a greedy dog

65. 50]000 jQ- dh X dks dh xbZ fcØh Y ds [kkrs esa fn[kkbZ xbZ ;g fuEu esa ls fdl =kqfV dk mnkgj.k gS\
(v) Hkwy lEcU/h =kqfV (c) DydZ lEcU/h =kqfV
(l) lS¼kfUrd =kqfV (n) {kfriwjd =kqfV

     A sale of # 50,000 to X was entered as a sale to Y it is an example of :

     (a) Error of omission (b) Error of commission

     (c) Error of principle (d) Compensating error

66. xgu tkap ds vUrxZr vkrk gS%
(v) lHkh ys[kk iqLrdksa dh tkap (c) fof'k"V ys[kk iqLrdksa dh foLr`r tkap
(l) jksdM+ cgh dh tkap (n) buesa ls dksbZ ugha

     Under the intensive checking come :

     (a) All books of accounts are examined (b) Specific books of accounts are examined

      (c) Cash Book examined (d) None of these

67. fuEufyf[kr esa] dkSu vLFkk;h lEifÙk ugha gS%
(v) iwoZnÙk O;; (c) izkP;&foi=k
(l) [;kfr (n) jgfr;k

     From the following which is not floating assets :

     (a) Prepaid expenses (b) Bills Receivables (B/R)

     (c) Goodwill (d) Stock

68. fuEufyf[kr essa ls dkSu cukoVh lEifÙk gS%
(v) Hkwfe ,oa Hkou (c) [;kfr
(l) Ñfr LokE; (n) izkjfEHkd O;;

     Which of the following is fictitious asset :
       (a) Land & Building (b) Goodwill
       (c) Copyright (d) Preliminary expenses
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69. vof'k"V ewY; lEcfU/r gS%
(v) Iyk.V ,oa e'khujh (c) Hkwfe vkSj Hkou
(l) [;kfr (n) jfgr;k

     Scrape value is related with :

     (a) Plant and machinery (b) Land and building

     (c) Goodwill (d) Stock

70. pkVZMZ ,dkm.Vs.V gksrs gSa%
(v) vfuiq.k vads{kd (c) ljdkjh vads{kd
(l) is'ksoj vads{kd (n) buesa ls dksbZ ugha

    Chartered Accountants are :

    (a) Amateur auditor (b) Government auditor

    (c) Professional auditor (d) None of these

71. pkyw vads{k.k mi;qDr gksrk gS%
(v) cM+h laLFkkvksa ds fy, (c) NksVh laLFkkvksa ds fy,
(l) lkekU; laLFkkvksa ds fy, (n) buesa ls dksbZ ugha

     Continuous audit is suitable :

    (a) For big institutions (b) For small institutions

    (c) For general institutions (d) None of these

72. vkSlr ykHk fof/ fdlds ewY;kadu ls lacaf/r gS\
(v) jgfr;k (c) [;kfr
(l) va'k (n) buesa ls dksbZ ugha

    Average profit method is concerned with valueation of :

     (a) Stock (b) Goodwill

     (c) Share (d) None of these

73. vkUrfjd vads{kd gksrk gS%
(v) LFkk;h deZpkjh (c) vLFkk;h deZpkjh
(l) ckgjh O;fDr (n) buesa ls dksbZ ugha

     An Internal Auditor is :

     (a) Permanent Employee (b) Temporary Employee

     (c) Outsider person (d) None of these

74. izek.kd esa gksuk pkfg,%
(v) frfFk (c) jde
(l) gLrk{kj (n) ;s lHkh

     There should be in voucher :

      (a) Date (b) Amount

      (c) Signature (d) All of these

75. fdl lEifÙk dks] ykxr ;k cktkj ewY; tks nksuksa esas de gks ij] ewY;kafdr fd;k tkrk gS%
(v) e'khu (c) [;kfr
(l) jgfr;k (n) buesa ls dksbZ ugha

     Which assests is valued at cost price or market price which ever is less :

      (a) Machine (b) Goodwill

      (c) Stock (d) None of these

76. ik"kZn lhek fu;e esa ifjorZu ds fy, fdlh LohÑfr vko';d gS\
(v) U;;ky; (c) dsUnzh; ljdkj
(l) jkT; ljdkj (n) buesaa ls dksbZ ugha

     For alteration in memorandum of association whose approval is necessary :

      (a) Court (b) Central Government

     (c) State government (d) None of these
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77. vuqlU/ku fjiksVZ gksrh gS%
(v) laf{kIr (c) foLr`r
(l) (v) vkSj (n) nksuksa (n) buesa ls dksbZ ugha

     Investigation report is :

     (a) Brief (b) Detail

     (c) Above both (d) None of these

78. ykHkka'k dk forj.k fd;k tk ldrk gS%
(v) iawth ls (c) lEifÙk;ksa ds iquewZY;kadu ds ykHk ls
(l) foHkktu ;ksX; ykHkksa ls (n) mi;qZDr lHkh

     Distribution of dividend is allowed from :

     (a) Capital (b) Profit on revaluation of assets

    (c) Dibisible profits (d) All of these

79. oS/kfud vads{k.k gksrk gS%
(v) vfuok;Z (v) ,sfPNd
(l) oSdfYid (n) buesa ls dksbZ ugha

     Statutory audit is :

    (a) Compulsory (b) Voluntary

    (c) Optional (d) None of these

80. ewY;kadu dh vkUrfjd ewY; fof/ lEcfU/r gS%
(v) jgfr;k ls (c) LFkk;h lEifÙk;ksa ls
(l) [;kfr ls (n) va'kks ls

     Intrinsic value method of valuation is concerned with :

     (a) Stock (b) Fixed Assests

     (c) Goodwill (d) Shares

81. pkyw vads{k.k ls vads{kd dk izHkko deZpkfj;ksaq ij
(v) c<+rk gS (c) ?kVrk gS
(l) fLFkj jgrk gS (n) buesa ls dksbZ ugha

     The effect of auditor on employees by cotinuous audit :

     (a) Increases (b) Decreases

     (c) Remains constant (d) None of these

82. O;fDrxr vads{k.k gksrk gS%
(v) ,sfPNd (c) vfuok;Z
(l) oSdfYid (n) buesa ls dksbZ ugha

      Personal audit is :

     (a) Volutary (b) Compulsory

     (c) Optional (d) None of these

83. mPpre ewY; igys fuxZeu fof/ dk iz;ksx fd;k tkrk gS] tc%
(v) lkexzh dk ewY; c<+ jgk gks (c) lkezxh dk ewY; ?kV jgk gks
(l) lkexzh dk ewY; fLFkj gks (n) lkexzh dk ewY; ?kV&c<+ jgk gks

     ‘Highest is Price First Out’ (HPFO) method of valuation is used when :

     (a) The price of material is increasing (b) the price of material is decreasing

     (c) The price of material is constant (d) The price of material is fluctuating

84. fuEukafdr esa dkSu vHkhfrd lEifÙk gS\
(v) izkjafHkd O;; (c) ,dLo
(l) iwoZnÙk O;; (n) buesa ls dksbZ ugha

     Which of the following is intangible assets :

     (a) Preliminary expenses (b) Patents

     (c) Prepaid expenses (d) None of these
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85. lR;kiu ds vUrxZr%
(v) lEifÙk;ksa o nkf;Roksa dh HkkSfrdrk ij è;ku fn;k tkrk gS
(c) lEifÙk;ksa o nkf;Roksa dh ekSfydrk ij è;ku fn;k tkrk gS
(l) buesa ls dksbZ ugha
(n) (v) ,oa (c) nksuksa

     Under verification :

    (a) Attention is paid on materiality of assets and liabilities

    (b) Attention is paid on originality of assets and liabilities

      (c) None of these

      (d) Both (a) and (b)

86. lR;kiu rFkk ewY;kadu nksuksa%
(v) ,d gh phts gSa (c) vyx&vyx phts gSa
(l) ,d&nwljs ds iwjd gSa (n) buesa ls dksbZ ugha

     Both verification and valuation :

     (a) Are the same things (b) Are separate things

    (c) Are complementary of each other (d) None of these

87. lEiw.kZ tkap ds vUrxZr%
(v) lHkh ys[kk iqLrdksa dh tkap gksrh gS (c) tkap dhy lEiw.kZ fof/;ksa dk iz;skx gksrk gS
(l) buesa ls dksbZ ugha (n) (v) ,oa (c) nksuksa

     Under overall checking :

    (a) All books of accounts are examined (b) All methods of checking are used

    (c) None of these (d) Both (a) and (b)

88. dEiuh vf/fu;e] 2013 ds vuqlkj dEiuh fuxZfer ugha dj ldrh gS%
(v) 'kks/uh; iwokZf/dkj va'k (c) va'kks/uh; iwokZf/dkj va'k
(l) lerk va'k (n) buesa ls dksbZ ugha

     According to Companies Act, 2013 a company cannot issue :

     (a) Redeemable preference shares (b) Irredeemable preference shares

     (c) Equity shares (d) None of these

89. dEiuh dk pkVZj gS%
(v) ik"kZn vUrfuZ;e (c) ik"kZn lhekfu;e
(l) izfooj.k (n) feuV cqd

     The charter of a company is :

     (a) Article of Association (b) Memorandum of Association

     (c) Prospectus (d) Minute Book

90. vads{k.k fjiksVZ ij dkSu gLrk{kj djrk gS\
(v) lapkyd (c) dEiuh dk lfpo
(l) pkVZMZ ,dkmUVSUV~l (n) dEifu;ksa dk jftLVªkj

     Who signs the audit report ?

     (a) Directors (b) Secretary of the company

     (c) Chartered Accountants (d) Registrar of companies

91. vuqlU/ku djk;k tkrk gS%
(v) fo'ks"k mís'; ls (c) lkekU; mís'; ls
(l) (v) ,oa (c) nksuksa (n) buesa ls dksbZ ugha

     Investigation is get done :

     (a) For specific object (b) For general object

      (c) Both above (a) and (b) (d) None of these
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92. dEiuh }kjk vius va'k/kfj;ksa dks cksul va'k fuxZfer fd, tk ldrs gSa%

(v) vkaf'kd pqdrk (c) iw.kZ pqdrk

(l) (v) ,oa (c) nksuksa (n) buessa ls dksbZ ugha

     Bonus shares can be issued by the company to its shareholders :

     (a) Partly paid (b) Fully paid

     (c) Both (a) and (b) (d) None of these

93. fdldk {ks=k O;kid gksrk gS%

(v) vkurfjd fu;U=k.k (c) vkUrfjd fujh{k.k

(l) vkUrfjd vads{k.k (n) buesa ls dksbZ ugha

      The scope of which is wider ?

     (a) Internal control (b) Internal checking

     (c) Internal audit (d) None of these

94. fdlds fy, vkUrfjd fujh{k.k lcls vf/d mi;ksxh gS\

(v) cM+h laLFkk,a (c) NksVh laLFkk,a

(l) (v) ,oa (c) nksuksa (n) buesa ls dksbZ ugha

     For which internal check is most suitable ?

     (a) Big institutions (b) Small institutions

      (c) Both (a) and (b) (d) None of these

95. ,d vkUrfjd vads{kd gks ldrk gS%

(v) dksbZ pkVZMZ ,dkmUVSUV (c) dksbZ Lukrd

(l) dksbZ dksLV ,dkmUVSUV (n) buesa ls dksbZ ugha

    An internal Auditor may be :

    (a) Any Chartered Accountant (b) Any Graduate

    (c) Any Cost Accountant (d) None of these

96. [kkrksa dk tksM+ yxkuk fdlds dk;Z{ks=k ds vUrxZr vkrk gS\

(v) uSR;d tkap (c) izek.ku

(l) vads{k.k (n) buesa ls dksbZ ugha

     Addition of accounts comes under the scope of :

     (a) Routine checking (b) Vouching

     (c) Auditing (d) None of these

97. izek.kd lEcfU/r gksuk pkfg,%

(v) xr o"kZ ls (c) pkyw o"kZ ls

(l) nksuksa o"kZ ls (n) buesa ls dksbZ ugha

     Vouchers should be concerned with :

      (a) Previous year                                                         (b) Current year

     (c) Both years (d) None of these

98. Øsrk }kjk ykSVk, x, eky dk ys[kk gksuk pkfg,%

(v) fcØh okilh ogha esa (c) LVkWd [kkrs esa

(l) nksuksa [kkrks esa (n) buessa ls dksbZ ugha

     Goods returned by customers should be entered in:

     (a) Sales return books (b) Stock account

     (c) Both account (d) None of these
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99. fuEufyf[kr esa ls dkSu&lk dFku lgh gS\

(v) ys[kk fcuk izek.kd ds Hkh gks ldrk gS

(c) izek.kdksa dh ys[kk ds lkFk rqyuk vko';d ugha gS

(l) dksbZ ys[kk fcuk izek.kd ds ;k dksbZ izek.kd fcuk ys[kk ds gksuk pkfg,

(n) buesa ls dksbZ ugha
     Which one of the following statements is true ?

     (a) Entry can be made without a voucher

     (b) Comparing the vouchers with entries is not essential

     (c) There should be no entry without vouchers and no vouchers withot entry

      (d) None of these

100. ,slk lap;&ftldk vfLrRo vkfFkZd fpV~Bs ij izdV ugha gksrk gS%

(v) lkekU; lap; (c) vk;xr lap;

(l) iawth lap; (n) xqIr lap;
     A reserve which is not apparent on the face of the balance sheet is :

    (a) General reserve (b) Revenue reserve

    (c) Capital reserve (d) Secret reserve
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University Deprtment of Commerce

B.R.A. Bihar University, Muzaffarpur

MODEL QUESTION BANK  (SET-II)

B.Com (Honours) Part- I

Group (A ) : Accounts

Paper- II, Auditing

Multiple Choice Questions (cgq foDyih; iz'u)

oLrqfu"B iz'u (Objective Type Question)

 oLrqfu"B iz'u     (Objective Types Questions):

1. nkf;Rokssa dk lR;kiu djrs le; ,d vads{kd og ns[krk gS%
(v) lHkh nkf;Ro Li"V :i ls fpVBs esa fn[kk;s x;s gSa (c) lHkh nkf;Ro la[;k ls lEcfU/r gS
(l) lHkh nkf;Ro lgh ,oa vf/Ñr gS (n) buesa ls lHkh
In verification of liabilities, an auditor see that :

     (a) All liabilities are shown clearly in the balance sheet (b) All liabilities are related with business

     (c) All liabilities are correct and authorised     (d) All of these

2. fuEufyf[kr esa ls dkSu&lh vHkkSfrd lEifÙk gS\
(v) iSVsUV~l (c) iwoZnÙk O;;
(l) izkjfEHkd O;; (n) nsunkj

     Which of the following is intangible asset ?

      (a) Patents (b) Prepaid expenses

      (c) Preliminary expenses (d) Debtors

3. ,d vads{kd gS%
(v) ewY;kadu (c) ewY;kadu ugha
(l) izs{kd (n) buesa ls dksbZ ugha

    An auditor is :

     (a) A valuer (b) Not a valuer

     (c) Observer (d) None of these

4. tc ,d dEiuh va'kksaa dk fuxZeu vafdr ewY; ls de ewY; ij djrh gS] rks bls dgrs gSa] va'kks dk%
(v) vf/ewY; ij fuxZeu (c) leewY; ij fuxZeu
(l) cV~Vs ij fueZeu (n) buesa ls dksbZ ugha

    When a company issues shares less than the written value, it is called, shares :

    (a) Issue on premium (b) Issue a par

    (c) Issue at discount (d) None of these

5. tc ,d va'k/kjh ;kpuk dh jkf'k dk Hqkxrku ugha djrk] rks mls dgrs gS%
(v) ;kpuk ij vfxze (c) odk;k ;kpuk
(l) cdk;k jkf'k (n) buesa ls dksbZ ugha

    When a shareholder does not pay the amount of call, it is called :

     (a) Callsin advance (b) Calls in arrear

     (c) Unpaid amount (d) None of these

6. va'kksa dk gj.k fdlds izko/kuksa ds vuqlkj gksuk pkfg,%
(v) ik"kZn lhekfu;e (c) ik"kZn vUrfxZ;e
(l) (v) ,oa (c) nksuksa (n) buesa ls dksbZ ugha

      Forfeiture of shares should be according to the provisions of :

      (a) Memorandum of Association (b) Article of Association

       (c) Both (a) and (d) None of these
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7. vads{kd }kjk fd, x, tkap dk;ksZ dk foLr`r fooj.k dgykrk gS%
(v) fooj.k (c) izLrqrhdj.k
(l) izfrosnu (n) buesa ls dksbZ ugha

     Detailed statement of the work of the examination performed by an auditor is called :

      (a) Statement (b) Presentation

      (c) Report (d) None of these

8. vUrfje ykHkka'k ,d ,sls izdkj dk ykHkka'k gS] tks ?kksf"kr fd;k tkrk gS
(v) o"kZ ds izkjEHk esa (c) o"kZ ds vUr esa
(l) o"kZ ds eè; esa (n) buesa ls dksbZ ugha

     Interim dividend is a such type of dividend,which is declared in the :

     (a) Beginning of the year (b) End of the year

      (c) Middle of the year (d) None of these

9. dj vads{k.k ds vUrxZr vads{k.k fd;k tkrk gS^
(v) dEiuh dh vk; dk
(c) dEiuh ds O;; dk
(l) vk;dj vf/fu;e ds vuqlkj dFkuksa dh vk;] O;; ,oa NwV dk
(n) buesa ls dksbZ ugha

     Tax audit is the audit of :

      (a) Income of the company

      (b) Expenditure of the company

     (c) Income, expenditure and rebates of the company according to Income Tax Act

      (d) None of these

10. djykxr vads{k.k viuk izfrosnu fdls nsrk gS
(v) lapkydksa dks (c) va'k/kfj;ksa dh

   (l) izoU/dksa dh (n) beusqa ls dksbZ vkSj dEiuh dh
     The Cost Auditor gives his report to the :

     (a) Directors (b) Shareholders

     (c) Managers (d) Company Law Board and Company

11. tc ,d vads{k.k vius izeq[k nkf;Ro dks iwjk djus essa vliQy jgrk gS] rks ;g gS
(v) ykijokgh (c) izKkurk
(l) tkx:drk dk vHkko (n) xEHkhjrk dh deh

     When an auditor fails to perform his main duty, it is called :

     (a) Negligence (b) Ignorance

     (c) Absence of awareness (d) Lack of seriousness

12. vkUrfjd fu;U=k.k vads{k.k ds dk;Z dks cukrk gS%
(v) ljy (c) ljy ugha
(l) vuko';d (n) buesa ls dksbZ ugha

     Internal control makes the work of auditing:

      (a) Easy (b) Not easy

      (c) Unnecessary (d) None of these

13. vkUrfjd fu;a=k.k dk Lo:i iw.kZr;k fuHkZj djrk gS%
(v) va'k/kfj;ksa ij (c) Í.ki=k/kfj;ksa ij
(l) izcU/ oxZ ij (n) buesa ls dksbZ ugha

     Form of internal control totally depends upon :

     (a) Shareholders (b) Debentureholders

     (c) Managements (d) None of these
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14. laLFkk vk vads{k.k &&&&&&&dh O;oLFkk ij fuHkZj djrk gS%
(v) vkarfjd dk;Z n'kkvksa (c) vkUrfjd okrkoj.k
(l) vkUrfjd fujh{k.k (n) buesa ls dksbZ ugha

     Auditing of an institution depends upon the arrangement of :

     (a) Internal working conditions (b) Internal atmosphere

      (c) Internal check (d) None of these

15. dqN [kkl ys[kk iqLrdksa dh tkap dgykrh gS%
(v) vads{k.k (c) ijh{k.k tkap
(l) [kkrksa dh tkap (n) buesa ls dksbZ ugha

     Checking of some specific account books is called :

     (a) Auditing (b) Test checking

     (c) Test of accounts (d) None of these

16. vads{k.k dk rduhdh Kku gksrk gS%
(v) tUetkr (c) mikftZr
(l) ekSfyd (n) buesa ls dksbZ ugha

     Technical knowledge of auditing is :

      (a) Born (b) Acquired

      (c) Original (d) None of these

17. ,d vads{kd dks ugha gksuk pkfg,%
(v) prqj (c) bZekunkj
(l) 'akdk;q (n) /S;Zoku

     An auditor should not be :

      (a) Tactfulness (b) Honest

      (c) Suspicious (d) Patience

18. ykHkka'k dk Hkqxrku ugha fd;k tk ldrk gS%
(v) iwathxr izkfIr;ksa ls (c) iawthxr ykHk ls
(l) vk;xr ykHk ls (n) buesa ls dksbZ ugha

      Dividend can not distributed out of :

     (a) Capital Receipts (b) Capital Profit

     (c) Revenue profit (d) None of these

19. fuEufyf[kr esa ls dkSu&lk dk;Z vads{k.k dk gS%
(v) [kkrksa dh xf.krh; 'kq¼rk dh tkap djuk (c) v'kqf¼;ksa dks <w<auk ,oa jksduk
(l) diV dks <wqa<uk ,oa jksduk (n) buesaq ls lHkh

     Which of the following is the function of auditor ?

     (a) To examine arithmetical accuracy of accounts (b) To detect and prevent the errors

      (c) The detect and prevent the frauds (d) All of these

20. dkSu&lh Hkqxrku dh lcls vPNh i¼fr gS\
(v) jksdM+ }kjk (c) lk/kj.k cSad }kjk
(l) js[kkadu psd }kjk (n) foy }kjk

     Which one is the best system of payment ?

     (a) by cash (b) by simple cheque

     (c) by crossed cheque (d) by bill

21. fuEuakfdr essa ls dkSu&lk dFku lR; gS%
(v) ewY;kadu] lR;kiu dk Hkkx ugha gS (c) ewY;akdu] lR;kiu dk vk/kj gS
(l) lR;kiu] ewY;kadu dk ,d Hkkx gS (n) lR;kiu ,oa ewY;kadu nksuksa ,d gh gS

     Which of the following statement is correct :

    (a) Valuation is not a part of verification (b) Valuation is the base of verification

    (c) Verification is a part of Valuation (d) Verification and valuation are the samething
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22. fuEufyf[kr lEifÙk;ksa esa ls dkSu&lh ykxr ewY; ij ewY;kadu gksrh gS\
(v) iQuhZpj (c) jgfr;k
(c) jksdM+ (n) [;kfr

    Which of the following assets is valued at cost price ?

     (a) Furniture (b) Stock

     (c) Cash (d) Goodwill

23. py lEifÙk gS%
(v) e'khujh (c) jgfr;k
(l) Hkou (n) iSVsUV~l

     The floating asset is :

     (a) Machinery (b) Stock

     (c) Building (d) Patents

24. fuEufyf[kr esa ls fdlds fy, vads{k.k vfuok;Z gksrk gS\
(v) ,dkdh O;kikj (c) lk>snkjh
(l) dEiuh (n) buesas ls dksbZ ugha

    For which of the following auditing is necessary ?

    (a) Sole trading (b) Partnership

    (c) Company (d) None of these

25. ys[kkiqLrdksa dh tkap djuk vads{k.k &&&mís'; gS%
(v) eq[; (c) lkekftd
(l) lgk;d (n) buesa ls dksbZ ugha

    To examine the books of accounts is the ........... objects of auditing.

    (a) Primary ` (b) Social

    (c) Subsidiary (d) None of these

26. fuEufyf[kr esa ls dkSu&ls uohu {ks=k gS ftuesa vads{k.k dh vko';drk gksrh gS\
(v) ykxr vads{k.k (c) izcU/ vads{k.k
(l) lkekftd vads{k.k (n) buesa ls dksbZ ugha

    Which of the following new areas are, in which auditing is necessary ?

    (a) Cost auditing (b) Management auditing

    (c) Social auditing (d) All of these

27. vkUrfjd fujh{k.k esa 'kkfey gksrh gS%
(v) fliQZ ys[kk (c) ys[kk vkSj mldh iksfLVax nksuks
(l) ys[kk vkSj mldh tkap nksuksa (n) buesa ls dksbZ ugha

     Internal check includes the :

     (a) Entry only (b) Both Entry and Posting

    (c) Both Entry and Checking (d) None of these

28. pkyw nkf;Ro ,sls nkf;Ro gksrs gSa ftldk Hkqxrku lkekU;r;k dj fn;k tkrk gS%
(v) ,d o"kZ esa (c) nks o"kZ esa
(l) rhu o"kZ esa (n) N% ekg esa

    Current liabilities are those liabilities which are paid generally within :

     (a) One year (b) Two years

     (c) Three years (d) Six months

29. va'kkas ds ewY;kadu dh ykHkksRikndrk fof/ fof/ gS ftlesa ge va'kksa dk ewwY; Kkr djrs gSa%
(v) ykHkksa ds iwathdj.k (c) okLrfod ykHkkas dk iwathdj.k
(l) okLrfod vkSlr ykHk ds iwathdj.k }kjk (n) lap; ds iwathdj.k }kjk

    Yield method for the valuation of shares is the method in which we get the value of shares by :

    (a) Capitalisation of profits (b) Capitalisation of actual profits

    (c) Capitalisation of actual average profit (d) Capitalisation of reserve
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30. ,d dEiuh ds dqy lEifÙk 11]50]000 jQ- oukoVh lEifÙk 1]50]000 jQ- nh?kZdkyhu Í.k 1]50]000jQ- iwokZf/dkj va'kks

    ij ykHkka'k gS 32]000 jQ- lekrk va'kksa dh la[;k 60]000 gS ftlesa izR;sd 100 jQ- dk gSA iwokZf/dkj va'k iwath 4]00]000 jQ gS

 ,d lekurk va'k dk vkUrfjd ewY; D;k gksxk\

(v) 141-67 jQ- (c) 166-67 jQ-

(l) 69-67 jQ- (n) 75 jQ-

     In a company total assets are # 11,50,000; Fictitious assets # 1,50,000. Long-term loan is # 1,50,000;

      Preference share dividend # 32,000. Number of equity shares are 6000 shares of # 100 each. Preference

      share capital # 4,00,000. What will be intrinsic value of one equity share ?

       (a) # 141.67 (b) # 166.67

       (c) # 69.67 (d) # 75

31. ;fn vkSlr fofu;;ksftr iawth gS] 5]00]000 jQ- okLrfod ykHk 60]000 jQ- izR;k; dh nj 18 izfr'kr gS rks vf/ykHk ds 3 o"kZ

ds Ø; ds vk/kj ij [;kfr dk D;k ewY; gksxkA

(v) 35]000 jQ- (c) 38]000 jQ-

(l) 30]000 jQ- (n) buesa ls dksbZ ughA

     If average capital employed is # 5,00,000; actual profit is # 60,000; rate of return is 10%,  what will be the

    value of goodwill on the basis of 3 years of purchase price of super-profit ?

     (a) # 35,000 (b) # 38,000

     (c) # 30,000 (d) None of these

32. ;fn ,d dEiuh ds 100 jQ- izR;sd 1]00]000 jQ- va'k gS vkSj 100 jQ- izR;sd 3 izfr'kr iwokZf/dkj va'k 200000 gS

    dEiuh dk vkSlr okf"kZd ykHk 19]0000 jQ- gS rks ,d lerk va'k/kjh dks miyC/ ykHk dh ek=kk gksxh\

(v) 14 jQ- (c) 15 jQ-

(l) 19 jQ- (n) 13 jQ0

    If a company has 100000 equity shares of # 100 each and 200000, 3% Preference shares of # 100 each.

    Average annual profits of the company are # 19,00,000, then the profit available to each equity shareholder

    will be :

     (a) # 14 (b) # 15

     (c) # 19 (d) # 13

33. ;fn dEiuh ds vkSlr okf"kZd ykHk gS 15]00000 jQ- iwokZf/dkj va'kksa ij ykHkka'k ns; gS 3]00]000 jQ- ;fn vU; lkekU;

izdkj dh daifu;ksa esa fofu;ksxksa ij vkSlr vk; dh nj 10 izfr'kr gS] rks ,d lerk va'k dk iwathÑr ewY; D;k gksxk\

;fn dEiuh ds 100 jQ- okys 1]00]000jQ- lekr va'k gSA

(v) 150 jQ- (c) 130 jQ-

(l) 110 jQ- (n) 120 jQ-

     If the annual profits of the company on an average are # 15,00,000; Preference shares dividend

     is payable # 3,00,000. If the average income from investments in other companies of similar nature is

    10%. What will be the capitalised value of each equity share ? If company has 100000 equity value of

     # 100 each.

     (a) # 150 (b) # 130

     (c) # 110 (d) # 120

34. fuEufyf[kr esa ls dkSu lh lEifÙk vewrZ gS%

(v) [;kfr (c) isVSUV

(l) VsªMZ ekdZ (n) buesa ls dksbZ ugha

     Which of the following assets is intangible?

      (a) Goodwill (b) Patent

     (c) Trademark (d) All of these
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35. fuEufyf[kr esa ls dkSu lk ,d flfer dEiuh dk vads{k.k fu;qDr fd;k tk ldrk gS\
(v) dEiuh dk lapkyd (c) fe- Y ftldh dEiuh ij 3]00]000 jQ- dh ysunkjh gks
(l) ,d iQkeZ ftlesa dEiuh dk lfpo lnL; gS (n) buesa ls dksbZ ugha

     From the following who can be appointed as an auditor of a limited company ?

     (a) Director of the company (b) Mr. Y, who owes # 3,00,000 lakh to the company

     (c) A firm, of which the Secretary of the company is a member  (d) None of these

36. vUrfje vads{k.k djk;k tkrk gS%
(v) o"kZ ds izkjaHk esa (c) o"kZ ds var esa
(l) o"kZ esa eè; esa (n) buesa ls dksbZ ugha

     Interim audit is get done :

     (a) At the begin of the year (b) At the end of the year

    (c) At the middle of the year (d) None of these

37. izoa/ vads{k.k ds vUrxZr D;k tkap gksrh gS\
(v) deZpkfj;ksa ds dk;ZZ dh (c) vads{k.k dh dk;Z dh
(l) mPpvf/dkfj;ksa ds dk;Z dh (n) buesa ls dksbZ ugha

    What is examined under management audit ?

     (a) Work of the employees (b) Work of auditor

     (c) Work of top authorities (d) None of these

38. fpV~Bk vads{k.k esa tkap gksrh gS\
(v) dsoy LFkk;h lEifÙk;ksa dh (c) dsoy LFkk;h nkf;Roksa dh
(l) lHkh LFkk;h lEifÙk;ksa ,oa nkf;Roksa dh (n) buesa ls dksbZ ugha

    Under Balance Sheet audit examination is done of :

     (a) Fixed assets only (b) Fixed liabilities only

     (c) All fixed assets and liabilities (d) None of these

39. vkUrfjd vads{k.k ftlds }kjk djk;k tkrk gS%
(v) ofj"B ;ksX; ,oa bZekunkj deZpkfj;ksa }kjk (c) bZekunkj o ;ksX; deZpkfj;ksa ;k is'ksoj vads{k.k }kjk
(l) izcaa/dksa }kjk (n) buesa ls dksbZ ugha

     Internal audit is done by :

     (a) Senior, Able and Honest Employees (b) Honest and Able Employees or Professional Auditor

     (c) Managers (d) None of these

40. okLrfod ykHk ls vf/d ykHk dk fu/kZj.k djus dk D;k izHkko gS%
(v) iwath esa ls ykHk dk forj.k (c) vafre [kkrksa dk xyr izLrqrhdj.k
(l) ysunkjksa ,oa Í.ki=k/kfj;ksa dh fgrksa dh gkfu (n) buesa ls dksbZ ugha

     What is the effect of determining excess profit over actual profit ?

     (a) Distribution of profit from capital (b) Wrong presentation of final accounts

     (c) Loss of interests of creditors and debentureholders (d) All of these

41. vuqla/ku izkjaHk gksrk gS%
(v) tc ys[kkd.k lekIr gksrk gS (c) tc vads{k.k lekIr gksrk gS
(l) tc iqLrikyu lekIr gksrk gS (n) buesa ls dksbZ ugha

      Investigation begins :

     (a) when accounting ends (b) when auditing ends

     (c) when book-keeping ends (d) None of these

42. lkoZtfud dEiuh;ksa esa de ls de fdrus lapkyd gksus pkfg,%
(v) 7 (c) 3
(l) 5 (n) 2

      In public companies what should be the minimum number of directors ?

       (a) 7 (b) 3

       (c) 5 (d) 2
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43. vk;kstu fd;k tkrk gS%
(v) fo'ks"k mís'; ls (c) lkekU; mís'; ls
(l) (v) ,oa (c) nksuksa (n) buesa ls dksbZ ugha

     Provision is made :

    (a) For specific object (b) For general object

    (c) Both (a) and (b) (d) None of these

44. 'kks/u dks"k cuk;k tkrk gS%
(v) lkekU; mís'; ls (c) fo'ks"k mís'; ls
(l) (v) ,oa (c) nksuksa lss (n) buesa ls dksbZ ugha

     Sinking fund is made :

     (a) For general object (b) For specific object

      (c) Both (a) and (b) (d) None of these

45. ykxr vads{k.k dh fu;qfDr dh tkrh gS%
(v) Í.ki=k/kfj;ksa }kjk (c) dEiuh ds lfpo }kjk
(l) lapkyd e.My }kjk (n) buesa ls dksbZ ugha

     Appointment of Cost Auditor is made by :

     (a) Debentureholders (b) Secretary of the company

     (c) Board of Directors (d) None of these

46. dEiuh dk fo'ks"k vads{k.k dkSu djrk gS%
(v) dEiuh ds lapkyd (c) va'k/kjh
(l) dsUnzh; ljdkj (n) buesa ls dksbZ ugha

     By whom the special audit of a company is get done ?

     (a) Directors of company (b) Shareholders

     (c) Central government (d) All of these

47. vuqla/ku fd;k tk ldrk gS\
(v) pkVZMZ ,dkm.VsUV ds }kjk (c) ys[kiky ds }kjk
(l) (v) rFkk (c) nksuksa ds }kjk (n) buesa ls dksbZ ugha

     Investigation can be done by :

     (a) Chartered Accountant (b) Accountant

     (c) Both (a) and (b) (d) None of these

48. m¼r ewY; lacaf/r gksrk gS%
(v) jgfr;k ls (c) va'k ls
(l) [;kfr ls (n) buesa ls dksbZ ugha

     Quoted price is related with :

      (a) Stock (b) Shares

     (c) Goodwill (d) None of these

49. fuEufyf[kr esa ls dkSu lh LFkk;h lEifÙk ugha gS\
(v) iwoZnÙk O;; (c) izkI; foy
(l) [;kfr (n) jgfr;k

     Which of the following is not floating asset ?

     (a) Prepaid expenses (b) Bills receivable

     (c) Goodwill (d) Stock

50. vof'k"V ewY; fdlls lEcfU/r gksrk gS%
(v) IykuV ,oa e'khujh (c) [;kfr
(l) jgfr;k (n) nsunkj

      Scrap value is related with :

     (a) Plant and Machinery (b) Goodwill

     (c) Stock (d) Debtors
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51. vuqla/ku djk;k tkrk gS%
(v) ekfyd }kjk (c) cká i{kksa }kjk
(l) ysunkjksa }kjk (n) (v) ,oa (c) nksuksa ds }kjk

      Investigation is get done by :

     (a) Proprietor (b) Outside parties

     (c) Creditors (d) Both (a) and (b)

52. izcU/ vads{kd ds dk;Z gS%
(v) fu.kZ;u esa lgk;rk djuk (c) vf/dkjksa ds izHkkowi.kZ vUrj.k esa lgk;rk djuk
(l) otV cukus vkSj dj fu;kstu esa lgk;rk djuk (n) buesa lds lHkh

      Function of Management Auditor is :

      (a) Help in decision-making (b) Help in effective delegation of authority

      (c) Help in preparation of budget and tax plans (d) All of these

53. fuEufyf[kr esa ls dkSu&lk lsok {ks=k ds vUrxZr ugha vkrk gS\
(v) cSafdax (c) m|ksx
(l) ifjogu (n) chek

     Which of the following does not come under service sector ?

      (a) Banking (b) Industry

     (c) Transportation (d) Insurance

54. ykxr vads{k.k ls rkRi;Z gS&&&&&&vads{k.k%
(v) foÙkh; ys[kkaduy dh iqLrdksa dk (c) ykxr ys[kk iqLrdksa dk
(l) izcU/dh; ys[kk iqLrdksa dk (n) buesa ls lHkh

     Cost Audit is meant for audit of ............... .

     (a) Financial account books (b) Cost account books

     (c) Management account books (d) All of these

55. lgdkjh vads{k.k D;k gS\
(v) vkfFkZd vads{k.k (c) iz'kklfud vads{k.k
(l) foÙkh; vads{k.k  ds lkFk&lkFk iz'kklfud vads{k.k (n) buesa ls dksbZ ugha

      What is co-operative audit ?

      (a) Economic audit (b) Administrative audit

      (c) Financial audit as well as administrative audit (d) None of these

56. chek dEifu;ksa dh vk; dk izeq[k L=kksr gS%
(v) ikWfyfl;ksa ls izkIr izhfe;e (c) fofu;ksxksa ij C;kt vkSj ykHkka'k
(l) iquchZek O;olk; ls izkfIr izhfe;e (n) buesa ls lHkh

     The main source of income of insurance companies is :

     (a) Premium received on policies (b) Interest and dividend from investments

     (c) Premium received on reinsurance business (d) All of these

57. 'kk[kk vads{kd dh fu;qfDr fdlo vf/fu;e dh fdl /kjk ds vUrxZr gksrh gS%
(v) 224 (c) 225
(l) 228 (n) 231

     Under which Section of the Act the branch auditor is appointed ?

      (a) 224 (b) 225

      (c) 228 (d) 231

58. fcuk ikfjJfed ds vads{kd dk nkf;Ro gksrk gS%
(v) lhfer (c) vlhfer
(l) lkekU; vaads{kd ds nkf;Ro dh rjg (n) buesa ls dksbZ ugha

      Liabilities of honorary auditor is :

       (a) Limited (b) Unlimited

       (c) As the liabilities of a general auditor (d) None of these
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59. lgk;dksa dh ykijokgh dk nkf;Ro gksrk gS%
(v) vads{kd dk nkf;Ro (c) lgk;dksa dk nkf;Ro
(l) fu;ksDrk dk nkf;Ro (n) buesa ls dksbZ ugha

    The liabilities for assistant negligence is :

    (a) Auditor’s liability (b) Assistant’s liability

     (c) Employees’ liability (d) None of these

60. fofu;kstdksa dh lqj{kk vads{kd dk&&&&mís'; gS%
(v) lkekftd (c) vkfFkZd
(l) izkFkfed (n) lgk;d

     Protection of investors is .......... object of auditing :

     (a) Social (b) Economic

     (c) Primary (d) Subsidiary

61. jke ls 500 jQ- ik;k fdUrq mlds [kkrs esa 5]000 jQ- tek ffd;k x;k og gS%
(v) lS¼kfrd v'kqf¼ (c) fyfidh; v'kqf¼
(l) {kfriwjd v'kqf¼ (n) buesa ls dksbZ ugha

      Received # 500 from Ram, but credited the account by # 5,000 :

      (a) Errors of principle (b) Clerical errors

      (c) Compensating errors (d) None of these

62. okf"kZd fooj.kksa dk lR;kiu djuk vads{k.k dk&&&mís'; gS%
(v) izkFkfed (c) lkekftd
(l) lgk;d (n) buesa ls dksbZ ugha

     Verification of annual statement is ........... object of auditing :

      (a) Primary  (b) Social

     (c) Subsidiary  (d) None of these

63. dEiuh vf/fu;e] 2013 ds vuqlkj] ^lkj.kh&,iQ* fodYi gS%
(v) dk;Zokgh iqLrd (c) izfooj.k
(l) ik"kZn vUfuZ;e (n) ik"kZn lhekfu;e

     As per companies Act 2013, ‘Table F’ is the substitute of :

     (a) Minute Book (b) Prospectus

     (c) Article of Association (d) Memorandum of Association

64. ys[kkdeZ izkjEHk gksrk gS] tgka&&&&&&&&&&%
(v) iqLrikyu dk vUr gksrk gS (c) vads{k.k lekIr gksrk gS
(l) vuqlU/ku lekIr gksrk gS (n) buesa ls lHkh

     Accountancy begins where :

     (a) Book-keeping ends (b) Auditing ends

     (c) Investigation ends (d) All of these

65. izR;sd O;olk; ds fy, ys[kkdeZ gksrk gS%
(v) foykflrk (c) vko';drk
(l) izfr"Bkewyd (n) buesa ls dksbZ ugha

     For every business Accountancy is :

      (a) Luxury (b) Necessity

      (c) Symbol of prestige (d) None of these

66. izcU/dksa dks lykg nsuk vads{kd dk&&&&&&mís'; gS%
(v) eq[; (c) lgk;d
(l) lkekftd (n) buesa ls dksbZ ugha

     To render suggestions to the manager is ........... object to the auditor :

      (a) Primary (b) Secondary

       (c) Social (d) None of these
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67. ykxr] vads{k.k] vads{k.k dk&&&&&&&&&&mís'; gS%
(v) (c) lgk;d
(l) fof'k"V (n) vkarfjd

     Cost audit is ........... object of auditing :

      (a) Primary (b) Secondary

      (c) Specific (d) Additional

68. vads{k.k dk;ZØe gksuk pkfg,%
(v) ykspnkj (c) Li"V
(l) foLr`r (n)

     Audit programme should be .......... .

      (a) Flexible (b) Clearcut

      (c) Wider (d) All of these

69. lR;kiu ds vUrxZr&&&&&&&&&&&&&&
(v) lEifÙk;ksa o nkf;Roksa dh HkkSfrdrk ij cy fn;k tkrk gS
(c) lEifÙk;ksa o nkf;Roksa dh ekSfydrk ij è;ku fn;k tkrk gS
(l) buesa ls dksbZ ugha
(n) (v) vkSj (c) nksuksa

      Under verification ........... .

      (a) Attention is paid on the materiality of assets and liabilities

      (b) Attention is paid on the originality of assets and liabilities

       (c) None of these

       (d) Both (a) and (b)

70. fdldk {ks=k izR;sd O;kid gksrk gS\
(v) vkUrfjd fu;a=k.k (c) vkUrfjd fujh{k.k
(l) vkUrfjd vads{k.k (n) buesa ls dksbZ ugha

     The scope of which is wider?

     (a) Internal control (b) Internal checking

     (c) Internal audit (d) None of these

71. fuEukafdr esa ls fdls dEiuh dk pkVZj dgk tkrk gS%
(v) ik"kZn lhek fu;e (c) ik"kZn vUrfuZ;e
(l) izfooj.k (n) dk;Zokgh iqLrd

     Which of the following is called the charter of the company :

     (a) Memorandum of Association (b) Article of Association

      (c) Prospectus (d) Minute Book

72. ^^ys[kkadu dh iqLrdksa esa fn, x, ys[kksa dh lR;rk dk izek.k nsus okys izi=k gh izek.ki=k dgs tkrs gSaA** fdlus dgk\
(v) ts-vkj- okVyhok; (c) ysdkLrj
(l) Likblj vkSj isxyj (n) buesa ls dksbZ ugha

     “Vouching means testing the truth of the items appearing in the books of original entry.” Who said ?

      (a) J. R. Batliboi (b) Lancaster

      (c) Spicer and Peglar (d) None of these

73. ofg;ksa dk tksM+ fudkyuk&&&&&&&&&&ds dk;Z{ks=k ds vUrxZr vkrk gS%
(v) uSR;d tkap (c) izek.ku
(l) vads{k.k (n) buesa ls dksbZ ugha

     Addition of books come under the scope of ........... .

     (a) Routine checking (b) Vouching

     (c) Auditing (d) None of these
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74. u, miØe dk vads{k.k ls iwoZ%
(v) {ks=k fu/kZfjr djuk pkfg, (c) O;olk; dh izÑfr fu/kZfjr djuh pkfg,
(l) ys[kkadu dh fof/;ksa dk vè;;u djuk pkfg, (n) buesa ls lHkh

     Before the audit of a new institution :

     (a) Scope is determined (b) Nature of institution is determined

     (c) Methods of accounting are studied (d) All of these

75. iw.kZ tkap ds vUrxZr%
(v) ys[kkadu dh lHkh iqLrdksa dh tkap dh tkrh gS (c) tkap dh lHkh fof/;ksa dk iz;ksx gksrk gS
(l) lHkh deZpkfj;ksa dks 'kkfey fd;k tkrk gS (n) buesa ls dksbZ ugha

     Under overall checking :

     (a) All books of accounts are examined (b) All methods of checking are used

     (c) All employees are involved (d) None of these

76. ik"kZn lhekfu;e ds ifjorZu ds f, fdldh LohÑfr  vko';d gS%
(v) dsUnzh; ljdkj (c) U;k;ky;
(l) jkT; ljdkj (n)

     For alteration in memorandum of Association whose approval is necessary :

      (a) Central Government (b) Court

      (c) State Government (d) Company Law Board

77. dEiuh vf/fu;e 2013 dh /kjk 25 lEcfU/ gS%
(v) ik"kZn lhekfu;e (c) ik"kZn vrfuZ;e
(l) izfooj.k (n) dk;Zokgh iqLrd

     Sec. 26 of Companies Act, 2013 is associates with :

     (a) Memorandum of Association (b) Article of Association

      (c) Prospectus (d) Minute Book

78. vads{k.k dk;ZØe tkap dh ,d ykspiw.kZ] fu;ksftr izfØ;k gSA** dgk Fkk%
(v) gkWoMZ 'kSVyj us (c) vkWFkZj MCY;w gksuk gS
(l) Likblj kvSj isxyj us (n) buessa ls dksbZ ugha

     Audit programme is a flexible, planned procedure of inspection. Said :

      (a) Howard Statler (b) Arthur W. Holmes

      (c) Spicer and Peglar (d) None of these

79. fuEufyf[kr esa dkSu&lk vads{kd dk dk;Z gS\
(v) vadxf.krh; 'kq¼rk dh tkap djuk (c) v'kqf¼;ksa dks <wa<uk vkSj jksduk
(l) diVksa dks <w<+uk ,oa jksduk (n) buesa ls lHkh

     Which of the following is the function of Auditor ?

     (a) To examine the arithmetical accuracy (b) To detect and prevent the error

      (c) To detect and prevent the frauds (d) All of these

80. va'kksa ds fuxZeu ij vkosnu jkf'k de ugha gks ldrk%
(v) ewy jkf'k dk 5 izfr'kr (c) ewy jkf'k dk 10 izfr'kr
(l) ewy jkf'k dk 7-5 izfr'kr (n) ewy jkf'k dk 12 izfr'kr

     Application money on issue of shares can not be less than :

     (a) 5% of the face value (b) 10% of face value

     (c) 7.5% of face value (d) 12% of face value

81. vads{k.k dks lnL; gksuk pkfg,%
(v) ICAI dk (c) ICWAI dk
(l) ICSI dk (n) buesa ls lHkh
An Auditor should be a member of :

      (a) ICAI (b) ICWAI

       (c) ICSI (d) All of these
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82. ijh{kd tkap%

(v) vads{kd dk Hkkj de djrh gS (c) vads{kd dk nkf;Ro de djrk gS

(l) (v) vkSj (c) nksuksa (n) beusa ls dksbZ ugha

     Test checking reduces :

      (a) The burden of the auditor (b) The responsibilities of the auditor

      (c) Both (a) and (b) (d) None of these

83. ,d dEiuh esa 20000 lerk va'k 100 jQ- izR;sd gS vkSj 10000] 5 izfr'kr iwokZf/dkj va'k 100 jQ- izfr gSA dEiuh dk

vkSlr ykHkh 20]00]000 jQ- gSA lerk va'k/kfj;ksa dk ykHk gksxk%

(v) 19]00]000 jQ- (c) 20]00]000 jQ-

(l) 19]50]000 jQ- (n) 10]00]000 jQ-

     A company has 20000 equity shares of # 100 each and 10000, 5% pref. shares of # 100 each. Average

     annual profits of the company are 20,00,000. Then profit available for equity shareholders will be :

     (a) # 19,00,000 (b) # 20,00,000

     (c) # 19,50,000 (d) # 10,00,000

84. vads{k.k tks fd dkuwu }kjk vfuok;Z gS%

(v) ljdkjh vads{k.k (c) vkUrfjd vads{k.k

(l) ykxr vads{k.k (n) oS/kfud vads{k.k

      An audit which is compulsory by the law :

      (a) Government Audit (b) Internal Audit

      (c) Cost Audit (d) Statutory Audit

85. tc ,d DydZ dk dk;Z vU; DydZ }kjk Lor% tkapk tkrk gs] dgk tkrk gS%

(v) vkurfjd fu;U=k.k (c) vkUrfjd tkap

(l) vkUrfjd vads{k.k (n) buesa ls dksbZ ugha

     The work of one clerk is automatically checked by another clerk is called :

      (a) Internal Control (b) Internal Check

      (c) Internal Audit (d) None of these

86. Hkkjr esa] vkfFkZd fpV~Bk vads{k.k dk lekukFkZ gS%

(v) okf"kZd vads{k.k (c) pkyw vads{k.k

(l) foLr`r vads{k.k (n) oS/kfud vads{k.k

      In India, Balance Sheet audit is synonymous to ........... .

      (a) Annual Audit (b) Continuous Audit

      (c) Detailed Audit (d) Statutory Audit

87. vads{k.k dk eq[; ykHk gS%

(v) ys[kk iqLrdksa esa v'kqf¼;ksa dk Kku (c) dk;Zdq'kyrk esa o`f¼

(l) Hkz"Vpkj dk vUr (n) buesa ls lHkh

     Main advantage of auditing is :

     (a) Knowledge of accounting errors (b) Increase in efficiency

      (c) End of corruption (d) All of these

88. Vsoy 'A' fodYi gS%

(v) ik"kZn vf/fu;e (c) ik"kZn vUrfuZ;e

(l) izfooj.k (n) feuV cqd

     Table ‘A’ is the substitute of :

     (a) Memorandum of Association (b) Article of Association

      (c) Prospectus (d) Minute Book
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89. fo'ofo|ky; ds ys[ks&&&&&&&&ds fu;e vkSj dkuwuksa ds vuqlkj j[ks tkrs gSa%
(v) dqyifr (c) jftLVªkj
(l) fo'ofo|ky; vf/fu;e (n) buesa ls dksbZ ugha

     The accounts of an university are prepared according to rules and regulations framed or

      directed by :

     (a) Vice-Chancellor (b) Registrar

     (c) University Act (d) None of these

90. 'kSf{kd laLFkkvksa dh vk; dk L=kksr gS%
(v) Nk=kksa ds 'kqYd (c) ljdkj ls lgk;rk ,oa vuqnku
(l) pUnk (n) buesa ls lHkh

     The sources of income of an educational institution is :

     (a) Fees from student (b) Aid and Grants from Government

91. chek dEiuh ds vk; dk eq[; L=kksr gS%
(v) izhfe;e (c) O;kt
(l) ykHkka'k (n) buesa ls lHkh

     Which is a main source of income of insurance company ?

      (a) Premium (b) Interest

      (c) Dividend (d) All of these

92. fdldh vkkk ls dEiuh fcuk ßkl ?kVkdj ykHkka'k ?kksf"kr dj ldrh gS\
(v) vk;dj dfe'uj (c) U;k;ky;
(l) jftLVªkj (n) dsUnz ljdkj

     Under whose permission a company can distribute dividend without depreciation ?

       (a) Income Tax Commissioner (b) Court

       (c) Registrar (d) CentralGovt.

93. vUrfje vads{k.k fd;k tkrk gS%
(v) o"kZ ds vkjaHk esa (c) o"kZ ds vUr esa
(l) o"kZ ds eè; esa (n) fdlh le;

     Interim Audit is conducted :

     (a) At the beginning of the year (b) At the ends of the year

     (c) At the middle of the year (d) Any time

94. thou chek dEiuh dk vads{k.k gS%
(v) vfuok;Z (c) ,sfPNd
(l) oSdfYid (n) buesa ls dksbZ ugha

     Audit of life insurance company is :

     (a) Compulsory (b) Voluntary

     (c) Optional (d) None of these

95. vads{kd dk ofdZax isij D;k gS\
(v) vads{kd }kjk tkaps x, okmpj vkSj isij (c) iQeZ }kjk izLrqr ys[kk iqLrdsa
(l) vads{kd }kjk iQeZ ds Lokeh dks fy[kk x;k i=k (n) buesa ls dksbZ ugha

     What are auditor’s working papers ?

     (a) Vouchers and papers checked by the auditors       (b) Accounts books presented by the firm

    (c) The letter written by the auditor to the owners of the firm  (d) None of these

96. ljdkjh dEiuh esa vads{k.k dks fu;qDr fd;k tkrk gS%
(v) lapkyd }kjk (c) va'k/kfj;ksa }kjk
(l) dsUnz ljdkj }kjk (n) buesas ls lHkh

     Appointment of Government company auditor is made :

     (a) By directors (b) By shareholders

     (c) By Central Government (d) All of these
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97. lekesyu ls iwoZ ds ykHk dks iz;ksx ugha fd;k tkrk gS%
(v) izkjafHkd O;; viys[ku esa (c) [;kfr viys[ku esa
(l) ykHkka'k forj.k esa (n) foKkiu O;; viys[ku esa

     The profit prior to incorporation can not be used in :

     (a) Writing off preliminary expenses (b) Writing off Goodwill

      (c) Distribution of Dividend (d) Writing off advertisement expenses

98. vads{k.k dk;ZØe dk ykHk gS%
(v) le; dh opr (c) dk;Z esa lekurk
(l) dk;Z ij fu;U=k.k (n) buesa ls lHkh

     The benefit of Audit Programme is :

     (a) Time saving (b) Uniformity in work

     (c) Control over work (d) All of these

99. dFkuksa dk fo'ks"k vads{k.k fdlds }kjk djk;k tkrk gS\
(v) va'k/kfj;ksa }kjk (c) Í.k/kfj;ksa }kjk
(l) lapkyd e.My }kjk (n) dsUnzh; ljdkj }kjk

      By whom the special audit of a company is get done :

      (a) Shareholders (b) Debenturesholders

      (c) Board of Directors (d) Central Govenment

100. va'kksa dk gj.k fdlds izko/ku ds vuqlkj gksrk gS\
(v) ik"kZn lhekfu;e (c) ik"kZn vUr%fu;e
(l) (v) vkSj (c) }kjk (n) buesa ls dksbZ ugha

     Forfeiture of shares should be according to the provisions of :

     (a) Memorandum of Association (b) Article of Association

     (c) Both (a) and (b) (d) None of these


